
H

TYPE DOC. ID

8055149

8055157

8055156
STEP 1

NR. Description MA Item Number Qty

1 Cover M6, Ø15x10mm 8005952 
(261801) 4

2 MVBF M6x30 mm 304553 2

3 Ø6,4x12x1,6 8008845 2

4 Dome Lock Nut M6 8008752 2

5 Screw, thr-forming M6x25-8.8-(ISO7380) 8027762 4 TeK2 SSV 2018-05-16 1

 1 ( 2)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.comHAGS

MASW53975



6,5mm

2

3

4

Ø5,5
250

5Only for Stainless Posts;

NR. Description MA Item Number Qty

1 Cover M6, Ø15x10mm 8005952 
(261801) 4

2 MVBF M6x30 mm 304553 2

3 Ø6,4x12x1,6 8008845 2

4 Dome Lock Nut M6 8008752 2

5 Screw KTS-TT M6x25 8027762 4 TeK2 SSV 2018-05-16 1

 2 ( 2)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.comHAGS

MASW53975


	Sheet1
	Drawing View1
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View20
	Drawing View21
	Detail View H (1 : 2)

	Sheet2
	Drawing View10
	Detail View D (1 : 2)
	Detail View E (1 : 2)
	Drawing View16


